0002073456297999

&0 ELLkE 0—e—o

Bp 4 4 0 [ )
2015 4 EFH HE 2 [ IME/H1
2 | B85 {a,} %
a) = 2\[2,
an > 0, alfazﬁ an—lfl_!an? =8 (nz2)

TEDHDE X, ROBWIZER X.

(1) by =logsa, £ B X, BF {b,} O—MIE%E KD .

(2) ecn=aagay L BLE X, B {cy} D—fEEE KD &

(3) 10f ¢y <10FM v sk 23k &, 272U, log)p2=0.3010 &4 3.

A L 2 ”

() an>0 &0, ai:‘ azJ'f c Rp=™ An T = 8 9 @il fém‘zmﬁ#{’&t:?,
%ﬂagz Qg+ ‘;‘fﬁvgzﬂz # B *',f;ﬂoggﬂn_, # %ﬁ’gzﬂn =3
'}f(bi*bz LR T "'an) =3
byt bz v bp=y + 2by =3n ---@

bitha * -+ ba=1t + bn+ 2bne1 = 3(n+1) - @

3
- 0% -3
@-OJdY. 2bpsei —bn =3 (nz2) A1= 2% &Y, by=2
n=2E4TALT,
“ b -3 = ';_(bn“3) art-q, =
BRI {bn-3} 12 Ezzgm"bz_gz%_gr__%’ .-.ﬁ,a_zzg .
e 4 DL 2= _3 (1y\n-2 | Q= 8F = 2%
L 5 a Bre T - bp-3= I'(z) - _3_(?)n o
“ba= F
bn=3{1'(%)n} chiEn=1aeft /&)L

(2) Ch=QiQz- Qn @ BT, E M 2037t Lo T,

log2 Cn = fogy @1 *loga @z + -~ * gy An

= byt b+ e+ b
= -
U ?’r‘j;(%)"}
= 3{n-1+($)"}

“op= p3n1¥(2)")

i




0002073456297999

&0 ELXkE 0—e—>

2015 4% EE 245 55 2 2158/ 23

{ a =2«/§,
1 1 2

N . 2L 2
an >0, aynagr - apinayn =8 (nz=2)
TEDDL E, ROBWIZER .

(D) by=logoa, £ B %, 5l {b, O—Mesi% Rk k.
(3) 10F <epy <10FT v sk 2 kb k. 272U, logp2=0.3010 £ 3.

3
(3) (201 Cyy= 230% 50

© 10k CH < 10*! & B 5 By Ci< RH
TH3-ens,

3
ks (30% 57) logio 2 < R+1
11T, 30-0.3010 < (30+ 51) dog,02 < 31-0.3010
Fens, 9.03 < (30+ 37) g2 < 9. 331

- 4=9

/4




